INR—TY = e =T 4 THASH

AR TR BT O 3 >t I
202249 7 43 =.17¢
=i
=L
BB R R Bl (N BL)
2 [T BLAT AT .
20224F 9 1 4y (BB 10%) | 2022458 1 45 (BB 10%) BT HAT L0072
= JEB 90148 67285 229%%
I 87485 65145 22388
(5% . HEE T EREN R R HAL O FH )
20224F9 H 45 DBREFE SRS B 1 X20224E4 H ~20224E6 H O EHliks iz L0 E HE N E T,
SERIRIH S
20224F4 F ~20224-6 H JE AR 1 k13720 64,500  (A)
(100 it PU 5. N)
< 5 Wi A R S
S AT 1kl 79 88,7321 0.1543 13,691
SERIHAL R IR I A ik 1t H7-0 101,844 M 0.1322 13,464
SER A PR AT RS 1t H7-0 38,217 0.9761 37,304
ATEREHERE RO ZEYEE
FLYERREH S (B) FLHEE M (C)
= I+ 23.40%%
26,0001 BT 22,708k

B AR S EEYERRBHMTI#526,000 % LBl > 7= 55

R R LA

CPESRHITF (3) - SRR (B)) x 2 L)

B MR S EEYERRBHMT#526,000 2 T B> 725 &

R R B

(LA (B) - RH A (A)) x e L L(C)

B AR EFEEMOBEAMIT., 1821, 20X, /MR TSN THRIEALET,




